ot =

ala+1) =194

a>=-a+1

a4:(—a+1)2:a2—2a+1
=(-a+1)-2a+1=-3a+2

a’ =a*xa® = (-3a+2)(-a+1)
=3a*-5a+2=3(-a+1)-5a+2

=-8a+5
at-a®> -3a+2-(-a+1)
ab-1 —8a+5

—1
-2a+1 ~ -2a+1
I&+4_4ph+n
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A f () B xt g 02 PGS W, BT URAE 0 (x), R AT

gteh o] W, £ (x) € 3x + 1 22 e 53 YA E F5tH?

® Q(x), R @ 30(x), 3R ® 30(x), R
1 1
@ 30(). R ® 30(), 3R




AE BE U¥E 52 0, UHAE R} 51, QE B R Uk &
0, YA E R olgt gttt AS BR 22 Wi UHAE? (B &2
2= Aol

@r+rs @ R +RB ® RR
@ R ® R

B

Fold 245 Aoz eyl
A=BO-+R ------ @)
Q=BQ +R - ©
Oe Ol tidshd
A=B(B'Q +R)+R
= (BB')Q' + (R+R'B)
R+RB7I AE BB 2 UE HHA7L 571 A= R+ R'B <
BB’ ©]ofof jttt,
JH9d R<B-1,R <B -10]B2
R+RB<(B-1)+ (B -1)B
= BB -1<BB
wtetA AE BB 0 & e U&= R+ R'BO|Th




4. x+yt+z=LlLxy+tyzta=2,x0:=3L ™, (x+1)(y+(z+1)
o] gt f-stefet.

> E:

> ™eh: 7

(r+ 1D +1)(+1)
=xyztxy+yzt+ax+x+y+z+1
=7




